BT % PR R
. WEHEES M={1, 2, 3, 4, 5}, N={12}, I MNN= ( )
A, {x]-3<x<3}; B. {1,2}; C. {1,23}; D. {x]1<x<3}.

[u—

2. THIREF, AL RKE ( )

A. y=2*; B.y=log,x; C. y=x%; D. y=sinx.

3. #ra<b<c, W TFIAZELF IEFT 2 ( )
A. ac>bc; B. a-b>b-c;

C. c—a>b-a; D. a+c>bh.

4. 510° ML TEAE ( )
A. BRI B. BRI, C. F=RM; D. HIUR

5. BREL f (x)=cosx ( )

A B, (EARE R B. JEArREL, EAZMERE
C. BERAREL NRMBRE D. A2 R, WA R AL

6. %@%&f(xﬁé(x;ﬁ&, Il £ (x) ¢
A. TE(-3, +oo)Py HLH %I, B. TE(-3, +oo) Py HLifE i ik;
C. fE(3, +oo)[A I, D. 7E(3, +oo)NHHIHIK.
7. fEAABC 1, B 41(a+b+c)b+c—a)=3bc, M AZ%T ( )

A. 150°; B. 120°; C. 60°; D. 30°.
8. B {a, ), a,=3, a,,=3a,+2, Wa = ( )
A. —g; B. §; C. 2; D. 2.

9. FHI=Aanid,
O)Eaca,alp, Malp
Q#FacabcpBalb, Malp

R)Falpacabcep Malb

IEBHIANECN ( )

A. 0 ; B. 1; C. 2; D. 3.

10. A1 3 20 XA AR IR, )R BT EO AR B Bl SR O
( )

A. 45; B. 90; C. 100; D. 200.



11.
A.

12.

WHESE M={—1, 0, 5}, N={0}, I ( )
N NZTH: B. NeM; C. NcM; D. McN

— IRy = 4x—T KB ARG ( )

A, FB—RIR; B. FE_RIR; C. F=%R; D. FEIURIR.

HEE

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.
27.

X, x>0

’ I_\” f 3 =
Xx+1,x<0 MieE)

O B 5 f(x)={

BRI f(X) =VXx—4 +~/5—x [5E KN

. [=logs(-a)?
A \E =

TR RSy = () BSR4 (5,45), T f(16) =

E,%Dsinazg, ae(%, 72'], N sin 2 25T

Filog,, x>1, M x FOHLE T LR

L N B-6,1, 4.9 th, 520 Uik T

ELA RN cos%[ sin% .

£l 2log, (M —2N) =log, M +log, N, Ulﬂ% BN .

2

2
ce g X TN _
CHRE TR + (=L, AT AR
— L IRAEA X +2x-6 < 2 RSN

00y (-20) 4209 3 HIE HIARHE T RN

fi| 57 f‘ G :

o4 A= {2, 5}, B= {3, 5, 6}, M AUB=

217 =5, #4log,10-log,14=



R R

28. Cki{a, | —RETUNIERNZLILES), Ha =1 a,+a, =6, KiZHFIT 5 5
IS,

29. Dla>0Ha=1, FXT x KIRZERa> 302 5223,

30. FEELAAKR TN, — REHy=x2+(k-4)x-(k+3) K0 %5 x il F £
A(%,0),B(%,,0) » H.(x, +1)x, +1)=-6 - 3K (1D KeREAIMENTIN (2) XFFR%
AT R ARFR o

31. KEL x—y+5=0xT x HXFRHI EL T 2.

32. DUHIANAER X +2mx+n > O FARAE R {X|x > —2mix <8}, 3k m Al n [¥IfH.



